Chem 51, Spring 2015 NAME
Exam 1 (Chapter 1) 85 pt

Mark the answers for Questions 1-35 on your Scantron. Each Question is worth 2 pt

1) Which of the following is an example of a heterogeneous mixture?
A) Sugar water  B) Oil/vinegar salad dressing C) Air D) Vodka

2) Which of the following is a pure substance?
A) Sugar B) Sand C) Gold D) Maple syrup

3) All the different kinds of substances that make up all of the material of the universe are known collectively as:
A) elements B) compounds C) matter D) electrolytes

4) Which of the following is an element?
A) Carbon dioxide B) Sodium C) Ammonia D) Sand

5) Which of the following is a homogeneous mixture?
A) A cup of black coffee
B) A package of cake mixture
C) Iron filings and sulfur
D) QOil and vinegar salad dressing

6) What is the correct symbol for the element copper

A) Ca B) Cr C)Co D) Cu
7) Which of the following combinations represents only alkali metals?
I.Li 1l.Ba I1. Rb IV. Ca
A l+Il BII+IV  C)I+IV D) Il + 111 E)I+11 AB) Il + IV

8) Which of the following is a metal?
A) Chlorine B) Silicon C) Magnesium D) Hydrogen

9) Which of the following is a nonmetal?
A) Chlorine B) Magnesium C) Sodium D) Aluminum

10) Which of the following is a metalloid?
A) Bromine B) Silicon C) Iron D) Copper

11) Which of the following combinations represents compounds rather than elements?
I.03 Il. CClg 1. Sg IV. H20

AT+I1 BYII+IV  C) I+l D) Il + IV

12) How many O atoms are in the formula unit GaO(NO3)2?
A)3 B)4 C)5 D)7

13) Which of the following is a mass unit?
A) cg B) mL C)dm D) yd
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14) Which of the following is the correct unit for length?
A) cg B) mL C) dm D) gal

15) Which of the following conversion factors is correct for converting from grams to kilogram?
A)1g=1000kg B)1000g=1kg C) 100 g=1Kkg D) 1 g =100 kg

16) How many mL of solution are there in 0.0500 L?

A) 50.0 mL B) 0.50 mL C) 500. mL D) 0.0000500 mL
17) Convert 152 miles into kilometers, using proper significant figures, given that 1 mile = 1.609 km.
A) 94.4 km B) 94 km C) 244.57 km D) 245 km
18) How many significant figures are there in the following number: 53,000 pounds?
Al B) 2 C)3 D)4
\
(2 pt) How would you record this measurement on your lab data sheet? /
* /
(2 pt) What is the uncertainty in this measurement? @— e
\
\
19) Round the following number to 3 significant figures: 546.85 grams. /\B
A) 546 B) 547 C) 546.9 D) 540 \’?/
=)

20) Round the following number to 2 significant figures: 105,006
A) 100,000  B) 110,000 C)1.1x 105 D) 1.1 x 106

21) The numerical value for 56,000 + 7.89 is equal to, with the proper number of significant figures:
A) 70.976 B) 71 C) 70.98 D) 71.0

22) Which of these samples has the smallest mass?
A) 160 ng B) 0.016 g C) 0.00016 mg D) 0.000000016 kg

23) What is the percent by mass of salt in a mixture that contains 150 g of salt, 1.2 kg of flour and 650 g of sugar?
A) 0.075% B) 7.5% C) 8.1% D) 19%

24) Which of the following statements bests describes a liquid?
A) Definite shape and volume
B) Indefinite shape and volume
C) Indefinite shape but definite volume
D) Definite shape but indefinite volume

25) Which of the following statements bests describes a gas?
A) Definite shape and volume
B) Indefinite shape and volume
C) Indefinite shape but definite volume
D) Definite shape but indefinite volume

26) Matter is nearly incompressible in which of these states?
A) Gas B) Liquid C) Solid D) Solid and liquid
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27) Identify the correct ordering of attractions among particles in the three states of matter.
A) solid < liquid < gas
B) solid > liquid > gas
C) gas < solid < liquid
D) solid < gas < liquid

28) Which of the following substances has the lowest density?
A) A mass of 1.5 kg and a volume of 1.2 L
B) A mass of 25 g and a volume of 20 mL
C) A mass of 750 g and a volume of 70 dL
D) A mass of 5 mg and a volume of 25 uL

29) Using the specific heats for each of the substances listed below, determine which of these substances will show
the largest temperature increase, if equal masses of each were heated with the same quantity of energy

A) air (0.24 cal/g °C)

B) gold (0.031 cal/g °C)

C) iron (0.11 cal/g °C)

D) paraffin wax (0.60 cal/g °C)

30) What is the total dose required for a 140 Ib patient if the amount required is 28 mg/kg bodyweight?
A)18mg B)18g C)3.9mg D)3.9g¢g

31) Which of the following is not a physical change?
A) Boiling water
B) Dissolving kool-aid
C) Frying an egg
D) Liquefying oxygen

32) An example of a chemical reaction is:
A) TNT is explosive
B) Gasoline is flammable
C) Zinc reacts with hydrochloric acid to produce hydrogen gas
D) All the above

33) What is the coefficient for O2 when this equation is balanced with the lowest whole number coefficents?
C2Hg + O2 — CO2 + H20
A) 3 B) 4 C)6 D)7
34) What is the total of all the coefficients when the following equation is balanced with the lowest whole number
coefficients?
N2H4 + H202 — N2 + H20
A) 4 B)8 C) 10 D) 12

35) Kinetic energy is stored energy. A) TRUE or B)FALSE
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(4 pt) Express the following quantity of energy, 74.6 cal, in joules if 4.184 J =1 cal.

(6 pt) Calculate the mass percent of fat in a candy bar that contains 12 g fat, 26 g carbohydrate, 6 g protein and 4 g of
other material.

(5 pt) Insert the coefficients to balance the following equations.

VCI3+ Mg —2V +3MgClp

4 HI + MnO2 — Mnl2 + H20 + 12

15 pt
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USEFUL CONVERSION FACTORS AMD RELATIOMNSHIPS

Length
& it maetery )
1 km = 042137 mi

1 ri = 5230 f
= 1.6093 ki
1m=10936vd

1in, = 2.5 cm (exactly)
1 o= 039370 in,

1a=10""m
Mass
& rwl kiDgrmirAg)
1kg=22040Th
1 =4535%9 5
= lhos

1 amu = 1.6605402 ¢ 10 2%

Erergy (derived)
& maie fak )
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1] = 0.2390 cal
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Pressure {derived)
S rpady Mancs v )
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